

SNS COLLEGE OF ENGINEERING Coimbatore - 641 107



Topic : Runge Kutta Method

$$\begin{aligned} & \left\{ \begin{array}{l} \label{eq:second} & \left\{ \left(+ \left(+ \left(+ \right) \right) + \left(\left(+ \left(+ \frac{1}{2} \right) , \left(+ \left(+ \frac{1}{2} \right) \right) \right) \right) \\ & = 1 + \left(\left(+ \right) \right) + \left(\left(+ \left(+ \frac{1}{2} \right) \right) \\ & = 1 + \left(\left(+ \right) \right) + \left(\left(+ \left(+ \frac{1}{2} \right) \right) \\ & = 1 + \left(\left(+ \right) \right) + \left(\left(+ \left(+ \frac{1}{2} \right) \right) \\ & = 1 + \left(\left(+ \frac{1}{2} \right) \right) \\ & = 1 +$$

First and Retreations:

$$K_{1} = h + (m + \frac{h}{2}, \eta + \frac{h}{2})$$

$$K_{2} = h + (m + \frac{h}{2}, \eta + \frac{h}{2})$$

$$K_{3} = h + (m + \frac{h}{2}, \eta + \frac{h}{2})$$

$$K_{3} = h + (m + \frac{h}{2}, \eta + \frac{h}{2})$$

$$And A_{1} = \frac{1}{2} \left[\kappa_{1} + 2\kappa_{2} + 2\kappa_{3} + \kappa_{4} \right]$$

$$g(m + h) = g(m) + Ag$$

$$Ma = \frac{1}{2} \left[\kappa_{1} + 2\kappa_{2} + 2\kappa_{3} + \kappa_{4} \right]$$

$$g(m + h) = g(m) + Ag$$

$$Ma = \frac{1}{2} \left[\kappa_{1} + 2\kappa_{2} + 2\kappa_{3} + \kappa_{4} \right]$$

$$g(m + h) = g(m) + Ag$$

$$Ma = \frac{1}{2} \left[\kappa_{1} + 2\kappa_{2} + 2\kappa_{3} + \kappa_{4} \right]$$

$$K_{1} = h + (m + \frac{h}{2}, \frac{h}{2} + \frac{h}{2})$$

$$K_{2} = h + (m + \frac{h}{2}, \frac{h}{2} + \frac{h}{2})$$

$$K_{3} = h + (m + \frac{h}{2}, \frac{h}{2} + \frac{h}{2})$$

$$K_{4} = h + (m + \frac{h}{2}, \frac{h}{2} + \frac{h}{2})$$

$$K_{4} = h + (m + \frac{h}{2}, \frac{h}{2} + \frac{h}{2})$$

$$K_{4} = h + (m + \frac{h}{2}, \frac{h}{2} + \frac{h}{2})$$

$$K_{4} = h + (m + h, \frac{h}{2} + \kappa_{4})$$

$$K_{3} = \frac{1}{2} \left[\kappa_{1} + 2\kappa_{2} + 2\kappa_{3} + \kappa_{4} \right]$$

$$g(m + h) = g(m) + Ay$$

$$\begin{aligned} & \langle z \rangle \\ & k_{1} = h \ \#(m_{1}, y_{0}) \\ & = (c_{2}) \ [m_{2}c_{0}^{2} + y_{0}] \\ & = (c_{2}) \ [m_{2}c_{0}^{2} + y_{0} + \frac{k_{1}}{2}] \\ & = (c_{2}) \ [m_{2}c_{0}^{2} + \frac{k_{2}}{2}, \ y_{0} + \frac{k_{1}}{2}] \\ & = (c_{2}) \ \# \left[c + \frac{c_{2}}{2}, \ n + \frac{c_{3}}{2} \right] \\ & = (c_{2}) \ \# \left[c + \frac{c_{2}}{2}, \ n + \frac{c_{3}}{2} \right] \\ & = (c_{2}) \ \# \left[c + \frac{k_{2}}{2}, \ y_{0} + \frac{k_{3}}{2} \right] \\ & = c_{2}c_{1}d_{2} \\ & k_{3} = h \ \# \left[m_{4} + \frac{k_{5}}{2}, \ y_{0} + \frac{k_{3}}{2} \right] \\ & = (c_{2}) \ \# \left[c + 1, \ p_{2} + 2c_{1} \right] \\ & = (c_{2}) \ \# \left[c + 1, \ p_{2} + 2c_{2} \right] \\ & = (c_{2}) \ \# \left[c + 1, \ p_{2} + 2c_{2} \right] \\ & = (c_{2}) \ \# \left[c + 1, \ p_{2} + 2c_{2} \right] \\ & = (c_{2}) \ \# \left[c + 1, \ p_{2} + 2c_{3} \right] \\ & = (c_{2}) \ \# \left[(m_{1})^{3} + 2c_{2} - 2c_{1} \right] \\ & = (c_{2}) \ \# \left[(m_{1})^{3} + 2c_{2} - 2c_{1} \right] \\ & = (c_{2}) \ \# \left[(m_{1} + h, \ y_{0} + k_{3}) \right] \\ & = (b_{2}) \ \# \left[(m_{1} + h, \ y_{0} + k_{3}) \right] \\ & = (b_{2}) \ \# \left[(m_{1} + h, \ y_{0} + k_{3}) \right] \\ & = (b_{2}) \ \# \left[(m_{1} + 1)^{3} + 2c_{2} + 2c_{1} + 4c_{2} \right] \\ & = (c_{2}) \ \# \left[(m_{1} + 2c_{1} + 2c_{1} + 4c_{2} \right] \\ & = (c_{2}) \ \# \left[(m_{1} + 2c_{2} + 2c_{3} + k_{4} \right] \right] \\ & = \frac{1}{c} \left[(m_{1} + 2c_{1} + 2c_{2} + 2c_{3} + k_{4} \right] \\ & = \frac{1}{c} \left[(m_{1} + 2c_{1} + 2c_{2} + 2c_{3} + k_{4} \right] \\ & = \frac{1}{c} \left[(m_{1} + 2c_{1} + 2c_{2} + 2c_{3} + k_{4} \right] \\ & = \frac{1}{c} \left[(m_{1} + 2c_{1} + 2c_{2} + 2c_{3} + k_{4} \right] \\ & = \frac{1}{c} \left[(m_{1} + 2c_{2} + 2c_{3} + k_{4} \right] \\ & = \frac{1}{c} \left[(m_{1} + 2c_{2} + 2c_{3} + k_{4} \right] \\ & = (m_{1} + 2c_{2} + 2c_{3} + k_{4} \right] \end{aligned}$$

$$\begin{aligned} & \{(c,2) = \{i = y_0 + Ay = 2i + 0.4482i = 2.4482i \\ \cdot \cdot \int y(c_2) = 2.4482 \\ \\ & \text{Second Hermin.} \\ \\ & K_i = h + f(m_i, y_i) \\ & = 0 - 2i + \int (-2i + 2.448) \\ & = 0 - 2i + \int (-2i + 2.448) \\ & = 0 - 2i + \int (-2i + 2i + 48) \\ & = 0 - 4902 \\ \\ & K_2 = h + f(x_i + \frac{h}{2}, \frac{h}{2}i + \frac{K_1}{2}) \\ & = (0 - 2i) + \int (-2i + \frac{0 - 2}{2}, 2 - 448 + \frac{0 - 4902}{2}) \\ & = (0 - 2i) + \int (-2i + \frac{0 - 2}{2}, 2 - 448 + \frac{0 - 4902}{2}) \\ & = (0 - 2i) + \int (-2i + \frac{0 - 2}{2}, 2 - 448 + \frac{0 - 4902}{2}) \\ & = (0 - 2i) + \int (-2i + \frac{0 - 2}{2}, 2 - 448 + \frac{0 - 4902}{2}) \\ & = (0 - 2i) + \int (-2i + \frac{0 - 2}{2}, 2 - 448 + \frac{0 - 4902}{2}) \\ & = 0 - E488i \\ \\ \\ & K_4 = h + \int x_i + h, y_i + K_5 \\ & = (0 - 2i) + \int (-2i + 2i - 2, 2 - 448 + 0 - 5488) \\ & = (0 - 2i) + \int (-2i + 2i - 2, 2 - 4483 + 0 - 5488) \\ & = (0 - 2i) + \int (-2i + 2i - 2, 2 - 2i - 4483 + 0 - 5488) \\ & = (0 - 2i) + \int (-2i + 2i - 2, 2 - 2i - 4483 + 0 - 5488) \\ & = (0 - 2i) + \int (-2i + 2i - 2, 2 - 2i - 4483 + 0 - 5488) \\ & = (0 - 2i) + \int (-2i + 2i - 2, 2 - 2i - 4483 + 0 - 5488) \\ & = 0 - E488i \\ \end{array}$$

$$\begin{aligned} & k_{4} = k_{4} (x_{5} + k_{7}, y_{2} + k_{5}) \\ &= (o \cdot 2) \neq [o \cdot 4 + o \cdot 2, 2 \cdot 99 + o \cdot 4 \cdot 914] \\ &= (o \cdot 2) [(a \cdot 6)^{3} + 3 \cdot 4 \cdot 8 \cdot 14] \\ &= 0 \cdot 7795 \\ & A_{1}y = \frac{1}{6} [k_{1} + 2k_{2} + 2 \cdot k_{3} + k_{4}] \\ &= \frac{1}{6} [0 \cdot 6108 + 2(0 \cdot 6841) + 2(0 \cdot 6814) + 0 \cdot 7795] \\ &= \frac{1}{6} [4 \cdot 1413] \\ &= 0 \cdot 6752 \\ & y_{10-6} = y_{2} = y_{2} + A_{1}y = 2 \cdot 99 + 0 \cdot 6902 = 3 \cdot 68 \cdot 168 \\ & \therefore \qquad y_{10-6} = y_{2} = y_{2} + A_{1}y = 2 \cdot 99 + 0 \cdot 6902 = 3 \cdot 68 \cdot 168 \\ & \therefore \qquad y_{10-6} = \frac{1}{9} = \frac{y_{1}^{6} - x^{1}}{y_{1}^{6} + x_{1}^{6}} \quad \text{with} \quad y_{0}(0) = 1 \quad \text{of } x = 0 \cdot 2 \cdot 168 \\ & \therefore \qquad y_{10-6} = \frac{1}{9} = \frac{y_{1}^{6} - x^{1}}{y_{1}^{6} + x_{1}^{6}} \quad \text{with} \quad y_{0}(0) = 1 \quad \text{of } x = 0 \cdot 2 \cdot 168 - 168 \\ & \therefore \qquad y_{10} = y_{1}^{1} = \frac{y_{1}^{6} - x^{1}}{y_{1}^{2} + x_{2}^{6}} \quad x_{0} = 0, \quad x_{1} + 0 \cdot 2, \quad y_{0} = 1 \\ & k_{1} = h + 6 \cdot x_{0}, \quad y_{0} \\ &= (0 \cdot 2) + (0 \cdot 1) \\ &= (0 \cdot 2) + (0 \cdot 1) \\ &= (0 \cdot 2) (\frac{1 - 0}{1 + 0}) = 0 \cdot 2 \end{aligned}$$

$$k_{2} = h \neq (x_{2} + \frac{h}{2}, y_{0} + \frac{h}{2})$$

$$= (o \cdot 2) \neq [o + \frac{o \cdot 2}{2}, 1 + \frac{o \cdot 2}{2}]$$

$$= (o \cdot 2) \neq [o + 1, 1 + 1]$$

$$= (o \cdot 2) [\frac{(1 + 1)^{2} - (o + 1)^{2}}{(1 + 1)^{2} + (o + 1)^{2}}]$$

$$= (o \cdot 2) (o \cdot 3896) = o \cdot 19672.$$

$$k_{5} = h \neq (x_{5} + \frac{h}{2}, y_{6} + \frac{h_{5}}{2})$$

$$= (o \cdot 2) \neq [o + \frac{o \cdot 2}{2}, n + \frac{o \cdot 19672}{2}]$$

$$= (o \cdot 2) \neq [o + 1, 1 + 19672]$$

$$= (o \cdot 2) \neq [o + 1, 1 + 19672]$$

$$= (o \cdot 2) = [\frac{(1 + 9672)^{2} - (o + 1)^{6}}{(1 + 9672)^{2} + (o + 1)^{6}}]$$

$$= (o \cdot 2) = (o + 2) = (o + 2, 1 + 0 + 967)$$

$$= (o \cdot 2) = (o + 2, 1 + 0 + 967)$$

$$= (o \cdot 2) = ((1 + 1967)^{2} - (0 + 2)^{2})$$

$$= (o \cdot 2) = ((1 + 1967)^{2} - (0 + 2)^{2})$$

$$= (o + 2) = ((1 + 1967)^{2} - (0 + 2)^{2})$$

$$= (o + 2) = ((1 + 1967)^{2} - (0 + 2)^{2})$$